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2 W9flwed / BIOLOGY
(56D wHmbd Yhifle el / Tamil & English Versions)

Criw : 3 wenfl | [ Quorss wHLQueTser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Seyeer 1 (1) Sarsg alemrésEnd silwurs uderd 2_GTATST 6T 6ITLI & &N 6o

sfluriégs Qarateralb. <EsLLS 6D G@pWmLSer mps
samarenfliurerfiLb o Languirss Osfeldseyn. '

2) Bawb Soeg smY moulamer L HGL ergusHGL LWETLRSS
Ceuar@®id. LILBISET cuamreusn@E OLed LWUSTLRSSaLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Ha]l Supervisor immediately.
(2)  Use Black or Blue ink to write and pencil to draw diagrams.

GOy : u@d - I sreurefwameub, uGgl - I alerdwueameuyb gaﬂg.gaﬂ
e ssrefed el welgmeynd.

Note : Candidate should answer Part - I (Botany) & Part - IT (Zoology) in separate
answer-books. ' |

LGSl - I (smeureflwev) / PART - I (BOTANY) -
(LSUQugiTaeT : 75) / (Marks : 75)

9fey - & / SECTION - A

GSOILY : () Smenss eleTTé & (6 &% LD aﬂml_lj,zaﬂé;aamm. 14x1=14
i) efwrer ol amwus Csip0s(ss T(PGI5.

"~ Note : ()  Answer all the questions.

(i) Choose and write the correct answer.

[ SimLiys / Turn over




5638

2

Qerawiy s CFHodser G)eamrune (pL&6Trs WTHIL{ETeT STEUTLD :

(=1) we-Curmbur ue@sflor (<) W -Gurm@ur fmssarefl

(@) we-Curmiwr opemgGaryn () e CurmAwm aviflevenlLemav
The stipules are modified into a pair of spines in :

(a) Euphorbia pulcherrima (b) Euphorbia tirucalli
(c) Euphorbia antiquorum (d) Euphorbia splendens

DNA ¢pav&aamer el L 1D :

(1) 18 A (=) 20 A (@) 34 A () 35 A
The width of DNA molecule is :
a) 18 A (b) 20A (c) 34 A d 35A

@eoapgo whass sremBais

(<=1) psedlen (<) gumadle

(@) s CLrensafler (F) uHfs ydled
Closure of stomata is caused by :

(@) Auxin (b) Gibberellin

(c) Cytokinin , (d) Abscisic acid

Qm@ern QUG wWepenws <P psiiLBSSwelr :

(<=1) &Crreven eflamGemuien (<) sreour(@ uradler
(@) & Cralr L en ap~&ar () SIL_TEo oLl GTTRIGTIT
The botanist who introduced binomial system is :

(a) Carolus Linnaeus (b) Gaspard Bauhin
(c) Sir Joseph Dalton ‘Hookerv (d) Adolf Engler

aLsm el Can auglide sreiu®n G@bUBsGer eramTanilEans

(<=t) 34 (<=4) 36 (@) 84 (/F) 165
The number of families found in class dicotyledonae :
(a) 34 (b) 36 (c) 84 (d) 165
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L @ament sTaIrsHnE @ aO&5EST_ () :

(1) Lyelym (=,) eumerL_m
(@) wrGearm _CGrrumr () sevgLlLm
An example for saprophytic angiosperm :

(a) Drosera (b) Vanda

(c) Monotropa ' (d) Cuscuta

L[GSSAe EL swemei 2 a@rudTanb Urdeflur :
(1) <26CrrunsleNwid 1918, Cud wismen

() eren@evAfwur Comreney

(8) Cudloaan gfEhdwenden ,

() e QruCLrenwaven @ansCrreavCasmse

The bacterium which produces crown gall disease in cotton :
(a) Agrobacterium tumefaciens

(b)  Escherichia Coli

(c) Bacillus thuringiensis

(d) Streptomyces hygroscopicus

&MLED sTaTiLBb ghampow GOrrGorCerb :

(1) 21 (=) 23 (@) 24 () 40
Haploid set of chromosome in sugarcane is : '
@) 21 ®) 23 © 24 (@ 40

gallar® GEpsCaray ppasmmb PEedLWTES | < SallmgCarmm b
AL ubGurgl Cprgurs geriQurmer LravLfsrarsdemed Hen s
ATP-uller crawrenilGens; :

(=) 2 ()4 @) 6 (w) 38

During complete oxidation of one glucose molecule the number of ATP molecules
obtained by direct substrate level phosphorylation is :

(@ 2 by 4 () 6 (d) 38
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10.

11.

12.

13.

14.

4

safl Qse Lrsb eremp Gamed. iflpstiuBSsuuLL < &r(H

(=) 1978 (<) 1966 (@) 1975 (Fr) 1930
The term Single Cell Protein was coined in the year :
(a) 1978 (b) 1966 () 1975 (d) 1930

‘eféveuld’ sraursdHer Q@ Cerp@uuwi :

(=) SeTedlur QemqsT (<) grdled wribleomen
(@) flsav GaurLrraiGemiav () eowCrer L ig&T
Binomial of vilvum is :

(a) Acalypha indica (b) Aegle marmelos
(c) Cissus quadrangularis (d) Mimosa pudica

QUTEDLY LODHMID SHEITEnLY & T 6L [ 161 & 6] 687 Qeasarblsefle sremliu@ib

BLESET auige UTTETesion Cleaser :

(1) QL OCel uryeTensLm (=) yGpreamensom
(®) gremensom () @GCermreensom
The type of tissue present in the petioles of banana and canna is :
(a) stellate parenchyma (b) prosenchyma

(c) aerenchyma (d) chlorenchyma

@ufsHrnd eramp Qurar IASASESSILHD STETL :

(=) HewpemhHon (=) HnGaremm

(@) Cagyrengev () Gameor HliigLm
Pyrethrum is extracted from :

(a) Chrysanthemum (b) Cinchona

(c) Catharanthus (d) Cola nitida

UpECsTIEE LSers g,rramrﬂésaﬂdﬂ sa&m® wppb Ceufser GrerLmd fHlene

auaTrEwenL b Qurepg urgsTiLs Heeurs Cewduboug) :
(1) QuAQLTD (=) yCrrGLrllLimbd
(@) uCrrGawiSum () epCer@QLiblev

The protective tissue that supplants the epidermis in the roots and stems that undergo

secondary growth :
(@) Periderm (b) Protoderm

(c) Procambium (d) Rhizodermis
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9fey - =, / SECTION - B

GOl :  sTemeuGuienid e clamésEnsE elanl wel&seaib. 7x3=21
Note : Answer any seven questions.
15. Gupsd an ssT euamaliuriger HlanmaeT epemdleaner er(Lpsis.

16.

17.

18.

19.

20.

21.

Write any three merits of Bentham and Hooker’s system of classification of plants.

QerorCearfl @OLUSHer MG GaTpenlw epearn Sreurnisailer @
Qarp Quuwflenen er(pgis.

Mention the binomials of any three medicinal plants of Solanaceae.

@M USSP @55 AMLILIEML UL @ GTETDT) cTete ? THSFHISETL(H S(Hs.

What is an isobilateral leaf ? Give an example.

4 rs&@saie sramiu@b TCsaib apeTy euamswuUTar @b QFdaer
Slg LIL|SE6T LIL LD QUENTUIG|LD.

Draw any three types of secondary wall thickenings in tracheids.

&CrrCurGarllen iewliemu LLLD aumybhgl LTEhIGEmars GDl&Esea.

Draw the structure of chromosome and label its parts.

safldgd Urs 2 husH&E@ uweruhin @rar®h urseflubisamar GHlLLKGGHS.

Mention the names of two bacteria used for SCP production.

paflFgeurssSH G, QEmLseurssSn@n o arear aparm GCoumUTHSmens &(Hs.

Write any three differences between photo respiration and dark respiration.

[ HiBlys / Turn over
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22, QuenCLrmed LTeCUL afisgsLsHar gCoanid aparm WPEHWSFHSHS
CT(LDGIS.
- Write any three significance of pentose phosphate pathway.

23.  @efirluger B&&D eramred eremem ?

What is devernalization ?

24. 2.4l Cummer GaTeTeneT eretmmed eTaTeT ?

Define bio-piracy.

Gifley - @ /SECTION - C

Goluy : () eteneuCuienid BresIE NamEsEnEs G)S]G‘o‘)l_UJQ'ﬂéBSSMLB. eSlewm eTemT
25-8@ sewriqliung ofew weaflsEs Gouam(ib. 4x5=20

(i) Cseeuwrer @ Bisafley UL Id auemrs.
Note : (i) Answer any four questions including Question No. 25 which is compulsory.

(i) Draw diagrams wherever necessary.

25.  GanrGuilugdler Wafluggieusams 6r(gis.

Bring out the significance of herbarium.

26. Qmeilsmas sTaurs STy aUTEVEGOT SHevpel @Melsdmas sTaurs
samg e aurev@GenT snapuladmng Caumu(Bssis.

Differentiate the vascular bundles of dicot stem from that of monocot stem.

27. En&SGCEHDD eTamTeL erear ? Fen (PaESHusgeunismer GHUGHS.

What is crossing over ? Write the significance of crossing over.
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28. e Pavarls QuH sraurnseiear smersbarad erdiliygdmer LbH
F(HESHIOTE GT(LPSIS.

Give a brief account of herbicide resistance in transgenic plants.

29. &pHdl wppb sHHler gefl uravufsreariseErsdoCu o drer
GeugiurMsenar er(psis.
Write the differences between cyclic and non-cyclic photophosphorylation.

30. sreursdlen ﬁéTGUI‘I’I'_I_ auati&Slenw siemali() QFlieusHETar S InE LIL SEIL 6
afleul.

Explain the experiment to measure the actual longitudinal growth of plant with
diagram.

31.  grewpuLQid dumssgdlen GHlsCanearaed qCsaubd mpHaer erps)s.

Write any five aims of plant breeding.

19fey - F / SECTION - D

@dluy : ()  eremeuCGuenid @resei® elassEnsE ofenwafldsayLb. 2x10=20
(i) Csemeuwrear @ kigalléd LULID auenys.
Note : (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. Wlyevr urrgellwrsrelamer smewd CGerpsarmed efeufl. wafear euemrLL LD
auerhgl wefler eumiLTLIgeneT 6r(Pgis.

Describe Musa paradisiaca in technical terms. Draw floral diagram and write floral
formula.

33. amev@eri Sag AerEly und UL kisepler efeuf.

Describe the vascular tissue system with the help of diagrams.

A [ HlpLliys / Turn over
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34. sreurs Ha eueriiien rCoad LSF LILIETHEMET 6T(LHSIS.

What are the outcomes of application of plant tissue culture ? (Any ten)

35. &lylev &ppél erampred erenen ? dyliey Fpnflepw efleur.
(feT&SD O euEmILLLD)

What is Krebs Cycle ? Explain Krebs Cycle (Explanation or flow chart).

LGS - I (efevrudluisn) / PART - IT (ZOOLOGY)
(LHUCua@TEET : 75) / (Marks : 75)
9fey - &/ SECTION - A

GOy : () Sievesg odamssErsEhn ofmwelssa. o 16x1=16
@) sfwumer el mws CoblsHss T(Was.
Note : () Answer all the questioris.

(i) Choose and write the corréect answet.

1.  eapliCur UTrensrmiligsss5med uBieug) :

(=1) Ny aflevd (<) QL e
(@) WsedgLom ' (F) S CLmadlev
Hypo parathyroidism results in :-

(@) Cretinism (b) Tetany

() Myxoedema (d) Ketosis

2.  wafls gCrmCurGsrd Qgr@liy euamruLgiled 13-eug @Cﬁlyrr@mrr(ﬁacrrm' Qs
auamsewl Cerbag
(=) QuiLr Qe & cums (<=,) &y Qur.Lr Gser fé s
(@) <=6Crr Qsan & euens () Cer Qgear’fé cums
In human karyotype, 13t chromosome belongs to :
(a) Metaceﬁtric type (b) Submetacentric type
(c) Acrocentric type ' (d) Telocentric type
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b eumsl urFouflub aprig ofer Quis NHéE rearurLrs
SADWBSBHEGL ? ' '
(=) eorwrrsHwer weap urpbufuwib
(=) HI. gpéveviflen sms8!
(8) Foudd eyl eflaneray
(F) G.L. evGLinlemev msg!
Which process of inheritance is in violation of Hardy-Weinberg law ?
(a) Lamarckian process of inheritance
(b) H.J. Muller’s concept

(c) Sewal Wright effect
(d) G.L. Stebbin’s concept

Cég,rrei) Thg euems Crmig sOLLTDDOS FTTHSE) :

(1) 216 Senwliy sHUY (=) 2Lh Gewe sEHLY
(@) dgad iz SHLIY () @rewr cuens By
Mention the type of immunological barrier to which skin belongs :

(a) anatomical barrier (b) physiolagical barrier

(c) phagocytic barrier (d) Inflammatory barrier

epamerilen erliLGS Sieswb Qurplsafiean LTfmeul LT :

(1) Cuae Camadlged (<) Ay epenar

(@) Sp Camellgad (F) pgemad QuisslLGS

Which part of the human brain aids in visual h‘acking of moving objects ?
| (a) superior colliculi (b) cerebellum

(c) inferior colliculi (d) primary motor area

[ Ly / Turn over
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Gemeupd Crmigefley gpGsrear @pulenme wealgsaisE ouBin Crmu

(=) emrigmisLer Gamflum (<) Quilwibenio

(@) GG C(m) afdlor

Which one of the following diseases is caused due to ozone depletion on human ?
(a) Huntington’s chorea (b) Small pox

(c) Plague ' (d) Erythemia

@ ser elenareurs LI LHMID awuldpn Cued LGHsaie smBoL LiamseT
Camremmibd

(=) Quiratdlwen wGaflwim (<) Quiaflwen ianswr

(@) sGurdl grrGarom (FF) & 9adlen

The production of scattered purplish lesions over the chest and abdomen are due to :
| (@) Pernicious malaria (b) Pernicious anaemia

(c) Kaposis sarcoma (d) Syphilis

samentlgeTer Fnibl| GFasafled o erer LTS :

(<=1) Qprimriglen (<) evariLmidler
(@) CumrlLmidler () BwECaT - Yrsid
Protein substance present in cone cells of eye :

(a) Rhodopsin (b)  Scotopsin

(c¢) Photopsin (d) Muco-protein

FTOLIO (P D& @eleurn mPssiLbhiEDng) :

(=) eueneur (<=, ) ureoSer (@) wLemeu (/) Qar@eur
Grey Mullets are called as :

(@) "Vavva (b) Milk fish (c) Madavai (d) Koduva
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11.

12.

13.

11 5638

Caav G ereni_ig. epiigev CrmiiGsrar sryeaf] -

(=) @ yCrrGLrGsmeur (=) @ eeuyav
(8) e@® uréefw (FF) @@ Ywepms
Gastroenteritis is caused by :

(a) a protozoan (b)y avirus

()  a bacterium (d) a fungus

il ey Coudlwus siflaisamers Qsreim 218ls slere] sl Hors s wiTen
e fphsgl ?

(<1) Blogdled Flybuse () 2diflug Siay

(8) Copuri9e epymeissd () erflggl smbLOTEEGSD

Which is a better method to dispose large amount of water carrying relahvely small
amount of chemical wastes ?

(a) Land filling method (b) Bio-remediation

(c) Surface impoundments (d) Incineration

gensaflen gpevssan Qewaur iger Gurg Grpg, Bl&ésl RNA-aeu Lrsons
wrmépg ?

(1) ugQuIBGsen (<) Qum Quuwiriiy

(@) qrmenen «.ClLGsen (FF) 19 TmenTai. oL9l uy &ebr

During the molecular functioning of genes, which process converts RNA into protein 7
(a) Transcription (b) Translation

(c) Transfection (d) Transfusion

Copris@pssrean £p0s Qararamsmu psd 1psaio SidlelGseur :

(1) @9 umeviguyT (=) @rruirl. Garé

(@) edlevLir () HC&aTarir ol 9emibLflm
The germ theory of diseases was established by :

(a) Louis Pasteur (b) Robert Koch

(c) Lister (d) Alexander Fleming

[ &lLiys / Turn over
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14.

15.

16.

12

@5#@&@@& @J@Tr'rl;lua;g;ﬁeb‘r geyGe LIHE@SUdan Sy 06 :

(1) 5 s 7.5 Q&.18. (<) 4 oo 6.5 Ga.18.
(@) 3.5 s 5 Qa8 (FF) 4.5 apged 5 Qg.i5.
The litter bed of poultry housing has the thickness of :

(a) 5to75cm (b) 4to65cm

(©) 35to5cm | d) 45t05cm

196U HeLaTUDMIGT GTHS GRET ) amwwragalur &rreiav
G@LILOSSID P

(1) e ergblblenL Sgemaan sdfwsssHnE 2 L LBSSISD.

(<) @emiQua.pren QaTHES

(@) eswev srulomwu BEES®

() rCeamEGerTene oeiq UMy SmeT 2L algiar Clagissise
Which one of the following is the curing process of myasthenia gravis ?
(@) - Irradiation of intercostal muscles

(b) Giving interferon

(c) Removal of thymus gland.

(d) Injecting monoclonal antibodies.

G@Jé&b'riq_rﬂé;aﬂefﬂei) peLQumD Wearampnd Bera) ECG-ufla
CarpmeilEAng. |

(=) T Sieva | (<)) P Siewe
(@) R Sewe (FF) S jened
Ventricular repolarization causes in ECG.
(@) T wave 7 (b) P wave
(c) " R wave (d) S wave

Cprenw s

MWS
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Hifle) - sy, / SECTION - B

GO = eremeuGugnib e B eflaméserés bl Hb elenLwefl&sayLb. 8x3=24
Note : Answer any eight questions.
17.  emorisdler (pse elflews o sryamssi 6 orpsis.
Write the I*t law of Lamarck with an example.
18. yudleo Qar cimsmWs FTTHS ey Lodd Carflsaflen Quuismars
GINIRICES
Name the three important English breeds of fowl.
19. abGurensl CLrQuoif GTEDITED GTENE ? HFE LILIGTSENGT TGS o
What is Haemocytometry ? Mention its uses. '
20.  “eumppraT SjeTey” LHMID UTIYLD ST - UEFWLIL.
Define life span and life expectancy.
21. wewsdmer - u@ﬁg@maﬂ G@Jguu@g,@ss
Totipotent and pluripotent - differentiate.
22. garfiflureder wmiGeuEmL N GHsEr Wrema ?
What are the clinical manifestations of thalasemia ?
23. S dar Azmpdlu Qeeseaiar LOGauy B apamn uu.uemurr@asemm G'r@gjas
Write the purposes for which transfected cells are used.
24. ‘yamqEID’ - euemwIgy.
Define antisera.
25. FOHETSEMIEFED GTETDIED cTemenm ?
What is called Black Water Fever ?
A [ Smuys / Tum over




5638 14

26. Qafsslul L 2 ey ereiaumm SamowwrssULGEDS ?

 How is the digested food assimilated ?

27. Qe g e erammed eTeman ? e Ceuamean) eT(LHSIs.
What is inhibitin ? Write its function.

28. seLsmniy Gope| CrTUsE epubeisnaTer ST RISEN6T 6T (LSS

Mention the reasons for Immunodeficiency Diseases.

9fley - & / SECTION -C
GOy : sj@g,gum ppermy Narss@rsE eleLwafl. ealarm eram 31-85@

sewTig LILns efenwel&Ese]b. ' 3x5=15

Note : Answer any three questions including question no. 31 which is compulsory.

29. mog 2 Ll saflomisalar weflu uhifaman eflaréEs.
| Explain the important Role of Minerals in our body.

30. walsafie srarlLED Qream® malrev Cpmisar updl Am GO S[HS.

Write short notes on two viral diseases in man.

31 Qeuarés Gpwﬁggml_ &Tiiy - whgorer CrmiggsmL sl - CaumudSgis.
QUIHBSS5E soLamimu H&H l@s® - afal.

Differentiate Active immunity from Passive immunity. Explam the Activation of
Adaptive immunity..

32, wryl Qurdweler aduggieud LHH ET(PSIS.
Write about the scope of Genetic Engineering.

33. ufewrmogdled @@Urr@mrr(?&rrm‘ WOppédlufen Wafw LmSlmen er(PSIs.

Write about the role of chromosomal aberrations in evolution.




GOy : sreneuCuen)id @rstor® allenTEsEréE WO el welssalb.

15

9fley ~ = / SECTION - D

Note : Answer any two questions.

34.

35.

36.

37.

(p&as Spmerpuiledd eumrw) wrHmLd ereleuTm penLLLmIElng! erauens ofersE:s.
Cogib saurs EMussnd wearuler apaib ereveurm QussiupEpg
CTETLIGS D 66T @s.

Explain how gaseous exchange takes place at alveoli and explain the regulation of
respiration by brain.

QeniCumss o miysar premidmr sridsemrs Geweu@b elssmst LH
R SLHDT 6T(PS)s.

Write an essay on “Endocrine functions of gonads”.

LeoGeum <4hmed ppevmisetie FOMIFG D ellenereyser LHD s Heny T(DSIS.

Write an essay on the environmental impacts of energy sources.

STOBML&6 6 SrewTiiLBLd Urde fuwr LOYID eneugan Crriigaisr QLwTsamer
GILAGs. sropmLsmaTs STEGD Ura b serewwhn Crrilsar @\ rewr(h)
umml eleur. ‘ '

Name the bacterial and viral diseases of cattle. Describe two non-contagious diseases
of cattle in detail.

~-00o0-~

2x10=20







